202 14E2H ETC2.0 (DSRC) EiERIFE

BoeE B ]
BRI szt
1(&38) 2(KEY) 3(K) 4(FREY) 5(8) ==

B[R] 2,119 127 4 131 169 32 2,550
SRR 484 48 0 41 89 10 662
aFR8 593 42 1 37 102 19 775
=R 1,529 111 0 117 340 116 2,097
AR 373 19 0 24 78 2 494
LR 609 40 4 19 102 7 774
mEE 1,366 126 8 109 284 88 1,893
KR 2,979 191 2 224 650 228 4,046
N 1,965 93 5 106 492 207 2,661
HER 2,528 124 1 238 533 186 3,424
BEE 8,541 348 5 531 2,402 816 11,827
FEE 6,350 257 4 379 1,374 568 8,364
RRED 14519 180 6 539 2,632 1,478 17,876
fESNS 10,793 212 7 495 2,230 1,068 13,737
Hino i 1,027 68 3 57 272 67 1,427
2R 515 41 0 36 114 38 706
alllR 653 31 1 41 127 40 853
BHE 481 21 3 32 82 16 619
LLBR 714 34 0] 34 221 74 1,003
REFE 1,394 67 2 86 353 108 1,902
I RIS 1,731 119 0 81 320 81 2,251
EEIR 3,495 173 2 168 1,001 361 4,839
BHIR 8,560 312 8 402 1,677 743 10,959
=ER 1,664 78 2 65 432 138 2,241
BER 886 70 0 35 231 93 1,222
RERRT 1,862 67 1 117 490 275 2,537
ABRAT 7,455 476 11 643 1,875 991 10,460
"ER 4,432 154 15 143 1,258 652 6,002
ZRE 910 88 0 55 256 89 1,309
AL 650 43 2 31 186 56 912
SWE 309 18 0] 14 84 22 425
ERE 328 18 1 30 102 20 479
A L= 1,357 77 3 75 435 175 1,947
LBE 1,911 132 2 129 607 302 2,781
Hijm[= 999 51 3 41 257 71 1,351
e 494 15 0 14 140 23 663
&HIIE 701 33 3 50 180 60 967
BER 806 42 0 35 257 95 1,140
=R 387 25 0] 10 123 39 545
ERR 3,697 208 11 253 935 476 5,104
EER 437 30 0 23 151 67 641
RIBE 653 41 2 21 186 67 903
HEARIR 956 80 1 62 265 118 1,364
AHE 696 47 1 50 164 73 958
=IFE 637 38 1 34 171 35 881
BREE 771 59 4 48 219 80 1,101
RIS 291 1 1 5 73 37 371
tT=4 0 0 0 0 0 0 0

a&t 106,607 4,675 130 5910 24,721 10,407 142,043




202 1FE2H ETC2.0 (DSRC) ESiERIFEY - iR

BoeE B ]
BRI szt
1(&38) 2(KEY) 3(K) 4(FREY) 5(8) ==

B[R] 1,518 78 0] 90 149 26 1,835
SRR 387 28 0 28 83 9 526
aF= 434 18 0] 23 84 15 559
=R 1,123 67 0 71 301 97 1,562
AR 281 15 0 20 70 1 386
LR 469 24 3 11 96 6 603
mEE 1,064 72 1 77 245 66 1,459
KR 2,233 95 2 146 570 181 3,046
N 1,508 52 2 70 439 177 2,071
HER 1,987 79 1 208 474 156 2,749
BEE 6,383 226 1 389 2,066 646 9,065
FEE 4,759 171 1 283 1,189 449 6,403
RRED 10,686 108 2 399 2,261 1,260 13,456
fESNS 8516 146 0 366 1,921 898 10,949
Fins 733 38 0] 35 227 55 1,033
2R 368 27 0 26 102 34 523
alllR 460 18 0 31 111 32 620
BHE 354 13 1 23 69 9 460
LIS 567 21 0] 23 196 68 807
REFE 1,031 48 0 56 300 86 1,435
I RIS 1,349 56 0] 62 269 65 1,736
EEIR 2,685 96 0 120 891 302 3,792
BHE 6,213 202 4 261 1,428 598 8,108
=ER 1,345 55 2 41 369 113 1,812
BER 691 29 0 24 200 79 944
RERRT 1,406 49 1 71 419 231 1,946
ABRAT 5,534 298 1 410 1,588 825 7,831
"ER 3,357 75 13 88 1,080 546 4613
ZRE 698 59 0 39 213 73 1,009
AL 464 26 0 17 163 49 670
SWE 212 13 0] 10 68 17 303
ERE 273 11 0 20 96 18 400
A L= 966 41 1 47 378 134 1,433
LBE 1,443 79 1 90 533 251 2,146
Hijm[= 742 34 1 22 236 63 1,035
e 389 11 0 8 127 19 535
&HIIE 514 22 1 32 161 51 730
BER 577 22 0 26 216 72 841
=R 318 12 0] 8 114 35 452
ERR 2,663 113 0 159 834 420 3,769
EER 333 9 0 9 138 58 489
RIBE 519 15 0 14 167 62 715
HEARIR 677 47 1 45 218 94 988
AHE 524 27 O] 38 142 61 731
=IFE 517 22 0 22 158 29 719
BREE 598 43 3 36 197 69 877
FHEE 207 1 0] 2 59 30 269
tT=4 0 0 0 0 0 0 0

a&t 80,075 2811 43 4,096 21,415 8,635 108,440




